ARARERBMBERRRE - S RERZREHBERE ML FRHNFE '
20 "HMHRH—ER, -

ARERATIE BB R A AR B A A B B R e Mt — 0F2 6 -

(RifE2+)

Bl— — EFBARBMAETDES

BEEFRBARESEANBEAEBGEES 12,510 jT - B FRELEEBIETEIRVEI 73
ERPREEA 2,248,110 JT
FRES A B S AR

IS PNG L) 80,000 T

& H sk AT 1,500 7T

FHHES 18,000 7T

FEANEH 99,300 T

FEZ MR P AGER 200,000 7T

PR b i e & SRR 100,000 7T

HFEEANBE A Fle R+ TYsk

EEEEHEI

A ATEI A

= 80,000 T (5 AL - 1,500 7T (FF A @50 — 12,510 T (HFE AR
H 1 228 NHEAER 0 #D) - 18,000 JT () - 8,275 JT (B H -SPZAEMIAT
A2

=39,715 7C

FIE &

= 200,000 JT (FREFAHITFFO) + 100,000 7T (FREg R = ERUEH)
=300,000 7T

H 55 & i A

= FAAEAWA x 12+ A& RE
=39,715 ¢ x 12 + 300,000 T

= 776,580 JC

HEEER

& - (HERMA RS -

{ERIE SRS RIS A S T EARE -
AR - RIS RIS HRIETE - (ER2E A
IHElF R HER IR -

(7% 2025 5.3 H 1 HEEH)



Bl— — BFBANEBMTIEE
BREZFREEA 62 5% BIAZAREER 7,630 Jr » FIRFREREBHETBIRVRI TR EIEIR
05 2,248,110 ¢

FEEE A BB AR
(SEN NG5 39,000 7T
ESYE L Gl AN =G T 1,500 7T
FHHEE 18,500 7T
FEANER 39,060 T
{%?%rpﬁ}f%ﬁ% 200,000 7T
H?ﬁ“E’J 600,000 7T
(FR fk%ﬁ 300,000 7¢
ffk‘%‘&ﬁ E,”F 300,000 7T
%«( nm%?ﬁ—t
(SYEIETE VSN PN

=39,000 yC (B H ML - 1,500 7T (B H st 50 — 7,630 7T (FHEE AR
ANERGEER) - 18,500 T (FHE) - 3,255 7T (FH PHZEM S I AE )
=8,115 JT

rEIHEE

= 200,000 7T (FHEE ARYAFS) + 600,000 JT (BZEE{E) + 300,000 j (Frg

R EECER) + 300,000 7T CGRE MR EEEMEE) - 4 60 pRHIHER )\Tﬁ%
THBRAY— ARSI B R R R IR T B S S A ER AR 2

= 1,400,000 7T — 449,620 7T

= 950,380 7T

F 155 L i

= FAAEAWA x 12+ AJEjH&#E
= 8,115 JC x 12+ 950,380 7T

= 1,047,760 JC

HEEER
FHS B RS AN RIS & IR A e i B R T BRI 5 AR ERER - TR e 38
& - (BERT S -

R A R HORS TR B B -
LR « AR RREIOFE  (pH
HE(E R AR RAY S -

(7% 2025 5.3 H 1 HEEH)



